
SAP ABAP table IMAKPA {Approp.req.-cost ctr, bus.area, prof.ctr, w/ perc.distrib.}

IMAKPA

MANDT [CLNT (3)]

POSNR [CHAR (12)]

LFDNR [NUMC (3)]

AKOSTL [CHAR (10)]

AGSBER [CHAR (4)]

APRCTR [CHAR (10)]

CEPC

MANDT [CLNT (3)]

PRCTR [CHAR (10)]

DATBI [DATS (8)]

KOKRS [CHAR (4)]
 IMAKPA-APRCTR = CEPC-PRCTR 0..N

1

CSKS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

DATBI [DATS (8)]

 IMAKPA-AKOSTL = CSKS-KOSTL 
0..N

1

IMAK

MANDT [CLNT (3)]

POSNR [CHAR (12)]

 IMAKPA-POSNR = IMAK-POSNR 

0..N

1

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 IMAKPA-AGSBER = TGSB-GSBER 

0..N

1


